B
TWE

Test for Writing English

TWE

TOEFL2000

TWE

introduction

thesis statement

body

TOEFL

TWE

conclusion




connectives signals

I agree with the idea of stricter gun control for a number of reasons. First, statistics show that

guns are not very effective in preventing crime. Second, accidents involving guns occur frequently.
Finally, guns can be stolen and later used in crimes.

I believe that a good salary is an important consideration when looking for a career. However,
the nature of the work is more important to me. 7hAus, 1 would not accept a job that I did not find

rewarding.

For me, the reasons for living in an urban area are stronger that the reasons for living in a rural

community. 7herefore, | agree with those people who believe it is an advantage to live in a big city.

I agree with this idea for several reasons.

- For several reasons, | agree with this idea.

I support Idea A even though Idea B has some positive attributes.
A B

- Even though Idea B has some positive attributes, | support Idea A.
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Some people believe that it is more advantageous to study at a small college or university. Others
take the opposite view, that a large college or university offers better educational opportunities.
Discuss these two positions. Tell which one you agree with, and explain your decision.
NOTES: Use this space for essay notes only. Write the final version of your essay on the next

two pages. A4



